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DIVISIBILITY /fOHKT ; rk

( Practice Sheet With Solution)

How many three digit numbers are divisible by
5 or 9?

riu vdk dh fdruh B[k, 5 ;k 9 1 foHT; g\
(a) 260 (b) 280
(c) 200 (d) 180

8A5146B is divisible by 88, then what is the
value of A x B?

8A5146B, 88 | foHT; g] rk A x B dk eku D;k g\
(a) 4 (b) 16
(c) 8 (d) 12

What is the number of even factors of 36000
which are divisible by 9 but not by 36?

36000 d le x.kueMk dh I[;k D;k g tk 91 foHkT;
g yfdu 36 1 ugh\

(a) 20 (b) 4

(c) 10 (d) 12

The number A39K?2 is completely divisible by
both 8 and 11. Here both A and K are single
digit natural numbers.

Which of the following is a possible value of
A+K?

I[;k A39K2 8 vkj 11 nkuk | ithrjg I foHT; gh
;0k A vij K nkuk ,d vd okyh ckNfrd I[;k, gA
futufyfer e 1 dku Ik IHkfor elu g A + K ?

(a) 8 (b) 10

(c) 12 (d) 14

A number 4'¢ + 1 is divisible by x. Which among
the following is also divisible by x?

,d I[;k 4%+ 1, x | foHkT; gb futufyfer e 1
dku x 1 Hi foHkT; g\

(a) 4°°+1
(c) 42 +1

(b) 4°%+ 1
(d) 4% + 1

How many 3-digit positive integers, with digits
a, b and c exist such that a < b and ¢ < b?
Assume that a is in hundred’s place, b is in
ten’s place, c is in unit’s place and a is a non-
zero digit.

10.

11.

vd a,b Vij ¢ d I fdru 3&vdh; 1dijited 1.kd
ektn g tl fd a<b Vkj c<b elu y fd a IdMk
d LFku 1j g] b ngkb d LFku ij g] ¢ bdkb d LFku
ij g vk a "W;rj vd gh

(a) 450 (b) 240

(c) 364 (d) 648
How many three-digit numbers are divisible by 5?

riu vdk dh fdruh B[k, 5 1 foHKT; g\
(a) 150 (b) 160
(c) 170 (d) 180

How many numbers are there from 500 to 650
(including both) which are neither divisible by
3 nor by 7?

5000650 rd (nkuk dk Iftefyr djr g,) ,Ih fdru
B[k, g T 3 wkj 7 nkuk 1 foHdT; ugh g\

(a) 21 (b) 121

(c) 87 (d) 99

How many number are there from 700 to 950
(including both) which are neither divisible by
3 nor by 7?

700 1 950 (nkuk dk feykdj) ,Ih fdruh [k, g
thurk3 1 ugh7 1 folkfer gkrh g\

(a) 107 (b) 141

(c) 144 (d) 145

If 5-digit number 535ab is divisible by 3,7 and
11, then what is the value of (a%> — b? + ab)?

;fn 5 vdk okyh I[;k 535ab, 3, 7 vkj 11 1 foHKT;
g] rk (az - b2 + ab) dk eku Kkr dift,A

(a) 95 (b) 83

(c) 89 (d) 77

If the six-digit number 479xyz is exactly divisible
by 7, 11 and 13, then {(y + 2) + x} is equal to:

N vdk okyh I[;k 479xyz ;fn 7] 11 vk 13 1
i.krh fOHKT; g rk {(y + z) =+ x dk eku cjkcj gh

7

@ 13 (b) 4
13 11
© & @ 5
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12.

13.

14.

15.

16.

17.

What is the value of x so that the seven-digit
number 8439x53 is divisible by 99?

x dk eku D;k gkxk fd Bkr vdk dh I[;k 8439x53,
99 | foHKT; g\

(a) 9 (b) 4

(c) 3 (d) 6

A six-digit number is formed by repeating a
three-digit number for example 347347. The
resultant number will be divisible by?

riu vdk di I[:k dk nigjkdj ,d Ng vdk di I[;k
cukb thrh gh €l 347347 ifj.keh N[k fdld Mjk
fOHIT; ghxi

(a) Only 7 (b) Only 11

(c) Only 13 (d) 1001

When 335 is added to 5A7 the result is 8B2.
8B2 is divisible by 3 what is the largest
possible value of A.

tc 335 dk 547 e tiMk thrk g rk ifj.ke 8B2 ¥r
gkrk g 8B2 3 I foHiT; g rk A dk eglke IHor eku
D;k g

(a) 8 (b) 5

(c) 1 (d) 4

Find the largest number which exactly divides
every number of the form (n® - n) (n - 2) Where
n is a natural number greater than 2

og vi/dre I[;k Kkr dj tk (n® - 2) (n - 2) fd
rjg dh it;d 1[sk dk foHkfer dj tgk n yd ikNr
I[;kg tk2 1 vi/d gh

(a) 6 (b) 12

(c) 24 (d) 48

If the 9-digit number 97x4562y8 is divisible by
88, what is the value of (x> + y?) for the
smallest value of y, given that x and y are
natural numbers?

;fn 9&vdk dh I3k 97x4562y8] 83 1 foHT; g]
rky d dcl NKV etu d fy, (x* + y?) dk eku D;k
gl fn;k x50 fd = vk y ckNr B[k, o\

(a) 64 (b) 68

(c) 76 (d) 8o

Find the greatest value of (x + y) such that a
7-digit number 33x920y is divisible by 15.

(x+y) dk Icl cMk eku Kkr dhft, rkfd 7 wvdk dh
I[;k 33x920y 15 I foHKT; gk
(a) 7 (b) 11
(c) 12 (d) 13

18.

19.

20.

21.

22.

What is the product of the largest and the
smallest possible values of m for which a
number 5m83m4ml1 is divisible by 9?

m d Icl cM wvij Icl N IHkfor ekuk dk x.kuiQy
D;k g feld fy, ,d I[;k 5m83m4m1, 9 1 foHkT;
g\

(a) 16 (b) 40

(c) 80 (d) 10

If the 5-digit number 750PQ is divisible by 3,
7 and 11, then what is the value of P + 2Q?

-fn 750PQ ,d , 10 5& vdh; I[:k g th 3] 7
Vkj 11 I foHdT; g] rk P #2Q dk eku Kkr dift,}
SSC CGL 01/12/2022 (Shift- 04)
(b) 15
(d) 16

If the 4-digit number x67y is exactly divisible
by 9, then the least value of (x + y) is .

;inxé7y ,d L Ih 4&vdh; I[;kg € 9 1 1.krk

(a) 17
(c) 18

fOHKT; g] rk (x +y) dk Uure eku __ gk
SSC CGL 02/12/2022 (Shift- 01)

(a) 9 (b) O

() S (d) 3

What will be the least number which when
doubled will be exactly divisible by 15, 18,
25 and 32?7

og Nkvh I Nkvh B[;k D;k gkxh fel nkxuk dju 1j
og 15] 18] 25 wvkj 32 1 i.krk foHKT; gk tk,xm\
SSC CGL 02/12/2022 (Shift- 02)
(b) 7200
(d) 3200

The difference of two numbers is 1564. After
dividing the larger number by the smaller, we
get 6 as quotient and 19 as remainder. What
is the smaller number?

nk 1[;kvk dk vrj 1564 gh cMh B[;k dk Nkvh 1
foHkftr dju ij] ge Hkxily d -1 e 6 vkj “KkiQy
d -1 e 19 ikir gkrk gA Nkvh B[ ;k D;k g\

SSC CGL 02/12/2022 (Shift- 03)
(b) 287
(d) 309

(a) 3600
(c) 6400

(a) 456
(c) 623
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23.

24.

25.

26.

27.

28.

Which of the following numbers are divisible
by 2, 3 and 5?

futufyflkr e 1 dku&lh [k 2] 3 vkj 5 1 foHkT;
o\

(a) 5467760 (b) 1345678

(c) 2345760 (d) 2456732

The nearest number which is greater to 87501,
and is completely divisible by 765 is :

og fudVre I[;k tk 87501 1 cMh g wkj 765 1
I.krk fOoHKT; g og Kkr dhft,A

(a) 88975 (b) 87975

(c) 87966 (d) 87775

Find the largest number of 3 digits divisible
by 4 and 7.

4 vk 7 1 foHkT; 3 vdk okyh Icl cMh B[ ;k Kir dji
SSC CGL Pre 3/12/2022 (Shift- 04)

(a) 960 (b) 980
(c) 990 (d) 970
If the 8-digit number 123456xy is divisible
by 8, then the total possible pairs of (x,y) are:
;fn 8 vdk dh I[;k 123456xy, 8 1 foHkT; g]
rk (x,y) d dy fdru. LHikfor. ;Xe gkx\

SSC CGL 03/12/2022 *Shift- 04)
(a) 8 (b) 13
(c) 10 (d) 11
Which of the following pairs of non-zero values

of p and q make 6-digit number 674pq0
divisible by both 3 and 11?

p Vj q d "K;rjekuk dk futufyf[kr e 1 dkuélk
;ke 6 vdk dhe 1[5k 674pq0 dk 3 vkj 11 nkuk
I foHKT; cukri-g\

SSC CGL 05/12/2022 (Shift- 01)
(b) p=5andq=4
(d) p=5andq=2
Find the greatest 5-digit number which is
divisible by 11, 33, 99 and 121.

5 vdk di Icl cMh [k Kir dift, € 11] 33]
99 wkj121 1 foHT; gkt
SSC CGL 05/12/2022 (Shift- 03)

(b) 99990
(d) 90909

(a) p=2andq=2
(c) p=4andq=2

(a) 90099
(c) 99099

29.

30.

31.

32.

33.

34.

What is the smallest number that should be
added to 4567 so that the sum is divisible
by 7?
4567 e og Nkvh I Nkvh dku&lh B[;k €kMh tk,
fd ;kxiQy 7 1 foHKT; gk\

SSC CGL 05/12/2022 (Shift- 03)
(@) 7 (b) S
(c) 6 (d) 4
If the 9-digit number 83p93678Q is divisible
by 72, then what is the value of

JP2+Q?+127?

;fn 9 vdk dh I[;k 83p93678Q, 72 1 foOHKT;

g] rk yP?+Q*+12 dkeku D;k g\

SSC CGL 05/12/2022 (Shift- 04)
(a) 6 (b) 7
(c) 8 (d) 9
350+ 926 + 2718 + 928 + 929 jg divisible by which
of the following integers?
3504 926 + 2718 + 928 + 929 fytufyf[kr e 1 fdl
I.kkd I ToHKT; g\
(a) 11 (b) 5
(c) 7 (d) 2
What is the smallest perfect square which is
completely divisible by each of 16, 18 and 36?

og Icl NkVk i.k ox dku Ik g tk 16] 18 wkj 36
e I if;d I i.krh foHkT; g\

(a) 144 (b)81

(c) 196 (d) 169

Numbers divisible by 9 between 43 and 481
are:

43 vkj 481 d chp e fdruh B[k, 9 Hjk foHKT; o\
SSC CGL 06/12/2022 (Shift- 03)

(a) 51 (b) 49

(c) 48 (d) 50

What should be subtracted from 246837 to
make it divisible by 13?

246837 e 1 fdruk %Vk;k tk, fd og 13 1 foHKT;
gk Tk, xk\
SSC CGL 06/12/2022 (Shift- 04)
(b) 5
(d) 6

(a) 4
(c) 3
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35.

36.

37.

38.

39.

40.

If a number K = 42 x 25 x 54 x 135 is divisible
by 3, then find the maximum value of a.
;fn ,d I[;k K =42 x 25 x 54 x 135, 3 Hjk
foHKT; g] rk a dk vi/dre eku Kkr dhft,A

SSC CGL 07/12/2022 (Shift- 01)
(a) 6 (b) 7
(c) 4 (d) S
How many numbers from 1 to 430 are divisible
by 7 and 11 both?

11430 rd fdrun I[;k, 7 vk 11 nkuk 1 foHkT; g\
SSC CGL 07/12/2022 (Shift- 02)
(a) 5 (b) 11
(c) 9 (d) 7
9435 is added to 7593, then 2607 is
subtracted from the sum. The result is
divisible by:
9435 dk 7593 e KMk tkrk g] vkj filj 2607 dk
bud ;kxiQy T %Vk;k tkrk gA 1fj.kke fd D1 foHkT;
ghxk\
SSC CGL 07/12/2022 (Shift- 03)
(a) 4 (b) 10
(c) 3 (d) 5
In a division sum, the divisor is 10 times the
quotient and four times the remainder. What
is the dividend if the remainder is 45?
,d foHkktu ;kx e Hked-Hkxily dk 10 xuk wkj
kily dk pkj xukigh st SkKiQy 459 rk HKT;
D;k gkxk\
SSC CGL 08/12/2022 (Shift- 02)
(a) 4123 (b) 3285
(c) 2895 (d) 5412
If 7-digit number 678p37q is divisible by 75
and p is not a composite, number then the
values of p and q are:

;fn 7 vdk die 1[5k 678p37q, 75 1 foHKT; ¢
vkl p ,d HKT; B[;kugh g] rk p vkj q d eku
Kkr dhft, A

SSC CGL 08/12/2022 (Shift- 04)
(@A p=5,9=5 () p=3,q9q=0
() p=3,9=5 (d p=2,9=5

The largest 5-digit number that is exactly
divisible by 88 is:
5 vk di Icl oM B[k g] tk 88 1
I.krk foHKT; gh

SSC CGL 09/12/2022 (Shift- 01)
(a) 99968 (b) 99689
(c) 68999 (d) 66698

41.

42,

43.

44,

45.

In a 7-digit number 89476*2, what is the
smallest possible value of * such that the
number is divisible by 8?
,d 7& vdh; 1[;k 89476*2 e] * dk l;ure IHo
eku D;k g fEIN B[;k 8 I foHKT; gk\

SSC CGL 09/12/2022 (Shift- 03)
(a) 2 (b) 1
(c) 4 (d) 3
The least number that should be added to

35460 so that the sum is exactly divisible by
3,4, 5 and 7 is:

35460 e dkuglh Icl Nkvi I[;k €Mh thuh pifg,
rkfd ;kxily 3] 4] 5.vkj¢7 1 i.krk foHkT; gk\

SSC CGL 12/12/2022 (Shift- 01)
(a) 84 (b) 420
(c) 240 (d) 180
Any six-digit number that is formed by
repeating a three-digit number, is always
divisible by:
dkb Hk Ng vdk di I[;k € riu vdk dh B[;k
dk nkgjkdj curh g] Ino fd Il foHKT; gkrh g\

SSC CGL 12/12/2022 (Shift- 02)

(a) 111 (b) 1001

(c) 19 (d) 101

If the seven-digit number 52A6B7C is divisible
by 33, and A, B, C are primes, then the
maximum value of 2A+3B+C is:

;fin Ikr vdk dh 1[;k 52a6B7C, 33 | foHKT;
gl vkj A, B, C VHKT; g] rk 2A + 3B + C dk
viekdre eku gh

SSC CGL 12/12/2022 (Shift- 03)

(a) 32 (b) 23

(c) 27 (d) 34

If a 7-digit number 54p3987 is divisible by
11, then p is equal to:

;in ,d 7&vdh; 1[;k 54p3987, 11 1 foHKT;
g] rk p fdld cjkcj gkxk\
SSC CGL 12/12/2022 (Shift- 04)
(b) 9
(d) 1

(a) S
(c) 4
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46.

47.

A four-digit pin, say abcd, of a lock has
different non-zero digits. The digits satisfy
b = 2a, ¢ = 2b, d = 2c. The pin is divisible
by.

,d ykd d pk vdk d fiu] abed dgr g] e
vyxévyx xj&'k; vd gkr gh vd b = 2a, ¢ =
2b,d =2c dk Ir'V djr gh fiu fdl 1 foHKT; g\

SSC CGL 13/12/2022 (Shift- 02)
(@ 2,3,5 (b) 2,3,7
(c) 2,3,13 (d) 2,3,11

If the number 6788934a4 is divisible by
11,then find the smallest whole number in
the place of a.

-fn 1[;k 6788934a4, 11 | foHdT; g] rk a d
LFkku i Bcl NKVh ik B[k Kkr dift, b

SSC CGL 13/12/2022 (Shift- 03)
(a) 3
(c) 5

(b) 4
(d) 2

48.

49.

50.

If the nine-digit number 3422213AB is divisible
by 99, then what is the value of 2A + B?

;fn uk&vdh; 1[;k 3422213AB, 99 1 foHkT; g]

rk 2A + B dk eku fdruk g\

SSC CGL 05/12/2022 (Shift- 01)
(a) 11 (b) 12
(c) 10 (d) 13
The largest three-digit number that gives the
same remainder 2 when divided by 3, 5 and 9
is .
riu vdk dh Icl cMh B[k & 3] 5 vkj 9 1 foHkftr
gku 1j Beku "KkiQy 2 nrh g] e oA

(a) 999 (b) 984
(c) 998 (d) 992
If the four-digit number 463y is divisible by 7,
then what is the value of y?

:fn pkj vdk di 1k 463y, 7 1 foHT; g] rk y

dk eku Dzk ghxk\

(b) 6
(d) S

(a) 4
(c) 3

(1@ | 2d) | 3®) | 4b) | 5d | 6w | 7d | 8@ 9.0 | 10.a) )
®) | 120) | 18 | 14 | 150 |16 | 17.(d) | 18.) | 19.) | 20.0)
L@ | 22d) | 23.() | 24) | 25.0) | 26.0) | 27.(d) | 2840 | 29.d) | 30.0)
L@ | 32a) | 33.() |34 | 35.0) | 36() | 37.(0 | 380) | 390 | 40.a)

L a@) | 20 | B0) |40 | 5@ |60 |7 | 86 | 90 | 506
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1.

(a)
Three digit number divisible by 5 —» 100, 105
...... 995
995 -100
5

895
= _+ 1
S
=179+ 1 =180
divisible by 9 —» 108, 117 ......... 999
_999-108
9

=&+1

=99 + 1 =100
divisible by 45 —» 135, 180 ......... 990

990 - 135
="
45

N 1

=20

No. 180 + 100 - 20

=280 - 20 = 260

(d)

the number 8A5146B is divisible by 88,
— It is also divisible by 8, 11

468
For value of B — —— = 0

8
=B=4

for value of A = (8 +5+4+4)-(A+1+6)
= 0, multiple of 11

—=A=3
So,AxB=3%x4=12
(b)

36000 =2x2x2x2x2x3x3%x5x5x5
since we are talking about even factors,

there must be at least one 2 in the required
factors:

since the number is divisible by 9, we have
both the 3.

So, we have 1 way of choosing 2, 1 way of
choosing 3, 4 ways of choosing 5

required factors =1 x 1 x4 =4

SOLUTIONS

4.

(b)
A39K2 is divisible by both 8 and 11.

- ——=0
K=9
(A +9+2)is (3 + K) = 0, multiple of 11
A=1
So,A+K=9+1=10
(d)
Given 4!°+ 1 is divisible by x.
So, (4'°)® is also divisible by x.
4%+ 1
(b)
We note that b is largest among these.

So, for b = 1 no numbers possible because
a=0

for b =2,a =1, c = 0, 1 total possible no.
=1x2=2

for b=3, a-=
no.=2x3=6

forb=4,a=1,2,3,c=0,1, 2, 3 total possible
no. =3 x4 =12

1,2, c = 0, 1, 2 total possible

in same way for b = 9, total possible no.
=8x9="72

So,total no.=1x2+2x3+3%x4+4x5+
Ex6+6XxX7T+7x8+8x09

=2+6+12+20+ 30+ 42 + 56 + 72
=240

(d)

Numbers are,

100, 105, 110 .......... 995

We know that

1=a+ (n-1)xd

995 = 100 + (n-1)x65

895 + 5 = 5n
n=22_1580
5
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8.

10.

11.

(e)
total numbers between 500 and 650 = 650-
500+1 = 151

Numbers of divisible by 3 = —|— = 50

(Quotient)

151
Numbers divisible by 7 = = 21 (Quotient)

151
Numbers divisible by 21 = 21 ° 7 (Quotient)

Numbers which we are not divisible by 3 or
7 (Quotient)

Numbers which we are not divisible by 3 or
7=151-(50 + 21 - 7) = 87

(c)

Total numbers between 700 and 950 = 950 -
700 + 1 = 251

251
Numbers divisible by 3 = 3 - 83 (Quotient)
s 251 .
Numbers divisible by 7 = ry = 35 (Quotient)

251
Numbers divisible by 21 = 21 - 11 (Quotient)

Number bich are not divisible by 3 or 7 = 251
-(83-35+11) = 144

(a)

Given that, 535ab is divisible by 3,7,11

the no. is also divisible by 231 (3 x 7 x 10)
let us consider the largest no. 53599

so, on dividing 53599 by 231

remainder = 7

so, required no. = 53599-7 = 53592
So,a=9,b=2

(a2 -b? + ab) = (81 -4 + 18) = 95

(b)

Given, 479xyz is exactly divisible by 7, 11, 13
it is also divisible by 1001 (7, 11, 13)
So,x=4,y=7,z=9

{ly + 2z) + x}
(16 + 4)
=4

12.

13.

14.

15.

16.

17.

(d)
Given, 8439x53 is divisible by 99
it is also divisible by 9, 11

8+4+3+9+x+5+3 _
. =

and, (8+3+2+3)~(4+9+5) = 0, multiple of 11

0

So,

X = 4 satisfies for both
(d)

A six no. digit formed by repeating a three
digit no. as 347347

the no. is divisible by 3 x 11 x 7 = 1001
(b)
According to question, 335 + 5A7 = 8B2

882
. =0
since, —

so, largest possible value of A= 5
(c)

Given form = (n° - n) (n - 2)

Letn =4

So,(4°-4) (4-2)=60x 2 =120

the largest number which exactly divides this
from is 24.

(d)
the no. 97x4562y8 is divisible by 88
it is also divisible by 8, 11

2y8=o,

for minimum value of y,

y=4

for value of X, (9 +x+5+2+8)-(7+4 +
6 + 4) = 0, multiple of 11
x=8,s0(x*+y?*)=82+42=64 + 16 = 80

(d)

Given that, 33x920y is divisible by 15

it is also divisible by 3, 5

3+3+x+9+2+0+y .
3

for largest value of (x + y)
x=8,y=5
(x +y)=13
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18.

19.

20.

21.

22.

(a)
Given, 5m83m4m1 is divisible by 9.

5+m+8+3+m+4+m+1=
9

o

o,

Largest value of m = 8
smallest possible value of m = 2
So product = 8 x 2 =16
(a)
Given, the no. 750PQ is divisible by 3, 7, 11
it is also divisible by 231 (3 x 7 x 11)
Let us consider largest no. 75099
So, on dividing 75099 by 231
Remainder = 24
So, required no. = 75099 - 24 = 75075
P=7,Q=5
P+2Q=7+10=17
(c)
Given, x67y is exactly divisible by 9.
x+6+7+y=o
9
Least value of (x +y) = 5
(a)
L.C.M (15, 18, 25, 32)
= 7200

(d)
Let, largest no. = x
smallest no. = y
Given, x -y = 1564
A.T.Q.
x =6y + 19
x -6y =19
Solve (1) and (2)
X -y = 1564
Xx-6y=19
Sy = 1545

y = 309

Smallest no. = 309

23.

24.

25.

26.

27.

28.

29.

(c)

Divisibility of 2
by 2.
Divisibility of 3
by 3.
Divisibility of 5 = last digit is O or 5

last digit of no. divisible

sum of digits is divisible

Among the given options only 2345760 follows
these conditions.

So, the required no. is 2345760

(b)

We have to find the no. which is divisible by 765
765 =3 x3x5x 17

So, among the options the no. which is
divisible by 3, 5, 17 is also divisible by 765.

Only 87975 follows all conditions.
(b)

Largest no. of 3 digit = 999

on dividing 999 by 28 (4 x 7)
remainder = 19

So the no. which is divisible by 4, 7 = 999-
19 =980
(b)
Given, 123456xy is divisible by 8,
6xy _

then — T—

So0,x=0,1,2,3,4,5,6,7,8,9,4,0, 8
y=8,6,4,2,8,6,4,2,8,6,0,0,0
total pairs (x, y) = 13
(d)
To make 674pqO divisible by 3 and 11
we have to take p =5,q =2
(c)
Greatest 5-digit no. = 99999
LCM of 11, 33,99, 121 =11 x9 x 11
= 1089
Divide 99999 by 1089
Remainder = 900
So required no. = 99999 - 900 = 99099

(c)
Given no. = 4567

44+5+6+7+x _
7

0o

A.T.Q.

So,x=6
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30.

31.

32.

33.

34.

35.

36.

(c)

Given no. 83p93678Q is divisible by 72
It is also divisible by 9, 8

for value of Q = last 3 digit divisible by 8
So, Q=4

for vlaue of P = 83p936784

P=6

JPP Q7 +12 = [[6F + (4 + (12) = /64 = 8
(a)

Given 350+ 026 + 2718 + Q28 ; Q29

350+352 + 354 + 356 + 358

3% (1 +9 + 81+ 729 + 6561)

350 (7381)

So this no. is divisible by 11.

(a)

Among the options the smallest perfect square
which is divisible by 16, 18, 36 is 144.

(b)

No. are

45, 54, 63, .......... , 477
We know that
l=a+(n-1)d

477 =45+ (n-1) x 9

432 =9n -9
9n = 441
n =49

So no. 5 which are divisible by 9 between 43
and 481 are 49.

(d)

to make 246837 divisible by 13 we should
subtract 6 from this no.

(b)

Given, K = 42 x 25 x 54 x 135 is divisible 3a.
So maximum value of a = 7.

(a)

No. are

l=a+(n-1)xd
385=77+(n-1)x 77
308 =77n - 77
77n = 385

n=>5

37.

38.

39.

40.

41.

(c)
A.T.Q.

9435 + 7593 - 2607 = 14421
Given no. is multiple of 3
So no. is divisible by 3.

(b)

Remainder = 45

divisor = 4 x 45 = 180

divisor _
10

quotient = 18

We know that,

Dividend = Divisor x quotient + remainder
180 x 18 + 45

3240 + 45 = 3285

(c)

Given, 678p37q is divisible by 75

it is also divisible by 5, 3
Soq=0,5
In first case, put q = O,

6+7+8+p+3+7+0
3

So,
p=2,0
In second case, put q = 5,

6+7+8+p+3+7+5
3

so,

p=0,3,6,9

So,p=3,q=5

(a)

Largest 5-digit no. = 99999

divide 99999 by 88

remainder = 31

So, required no. = 99999-31 = 99968
(d)

Given 89476*2 is divisible by 8

For smallest possible value of *

(<)}

*2
8

=

*=3
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42,

43.

44,

45.

(c)
No.=L.C.M(3,4,5,7) k
=210k
Put k = 169
Then Remainder is 30
c.e. If we add 30 in 35460 then
This is divisible by 3, 4, 5, 7
But This option is not Available.
So,
No. =30 + 210

= 240
(b)

Any six digit no. that is formed by repeating
a three digit number is always divisible by
(7 x 11 x 13) = 1001

(b)

Given, 52A6B7C is divisible by 33
it is also divisible by 11 and 3.
Maximum — 2A +3B +C
5+A+B+C=15
A=3,B=5,C=2
2x3+3x5+2

6+ 15+ 2

=23

(a)

54p3987 is divisible by 11
Putting value 5

So,

46.

47.

48.

49.

50.

Options A is correct

(c)

pin = abed

b=2a,c=2b,d=2c

leta=1

so, pin = 1248

So the pin is divisible by 2, 3, 13
(d)

6788934a4 is divisible by 11

6+8+9+4+4)~(7+8+3+a)=0, multiple
of 11

a=2

(a)

3422213AB is divisible by 99.
It is also divisible by 11, 9

(3+4+2+2+2+1+3+A+B)_
9
= A+B=10

and, (3+2+2+3+8)~(4+2+1+A)=0,
multiple of 11

B=9,A=1
2A + B
=2+9=11
(d)

largest 3 digit no. = 999

(3 x5 x9)=135

on dividing 999 by 135
remainder = 54

So, required no. = 999-54+2
= 945+2+45

=047 + 45 = 992

(a)

463y is divisible by 7

y=4
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